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T £ 23 %) =3 A S L
B2E=) Waztd | mand | S=E | HS
At2H(171/300~350g) 1,958 2,081 123 -5.91%
Hi (17H/650~700g) 3,513 3,953 440 -11.13%
2(171/1kg) 1,595 1,934 339 -17.53%
HY 3= (1= 7| /3kq) 4,576 5,044 468 -9.28%
CHitH(15/S/1kg/2E 7HA) 2,246 2,220 26 1.17%
Q0|(37H) 2,447 2,741 294 -10.73%
X[ 27| (= At/ &E A /6009) 17,320 16,464 856 5.20%
SET= SE71(10F2] /1kg) 7,014 6,218 796 12.80%
(16E5) 2|2 7|(=mi/=HE|FX]| /1S 41,170 38,258 2,912 7.61%
A7) 4A/LAZH|/6009g) 21,964 20,938 1,026 4.90%
SHZE(1 T/ TR 2E/307H) 6,806 7,505 699 -9.31%
Z7[(10r2]/=48/15cm) 1,174 1,404 230 -16.37%
X (10F2|/=4E/80cm) 6,230 6,920 690 -9.97%
1s0(10r2|/=4/30cm) 3,179 3,078 101 3.28%
HEf(10r2]/2H A|OFLF/40¢m) 3,718 3,724 7 -0.19%
QA0 (10r2|/5HS/30cm) 4,143 4,034 109 2.69%
A (20kg) 58,390 61,110 2,720 -4.45%
He|E (= 4t/1kg) 3,670 3,714 44 -1.18%
Lt 1t(1kg) 1,911 1,655 256 15.47%
7tOHS (1kg) 10,153 11,140 987 -8.86%
L7t = (S EHE/1kg) 1,466 1,466 - 0.00%
B (12/300g/3 QA +W1| 1,077 1,073 4 0.37%
MEE AE8018L/E7E 6,240 6,350 110 -1.73%
(142 5) =18 36OmQ/ADH7.§1) 1,290 1,290 - 0.00%
O == (1 & 500me/2A 01 7&) 1,490 1,490 - 0.00%
A (1Y 360me/2] Al 4,000 4,000 =3t
I3H’<(1 B 500me/2| &) 4,000 4,000 =23t
3|22 (11) 1,671 1,629 41 2.54%
74 S(1L) 1,468 1,427 41 2.89%
S(1L) 959 941 19 1.97%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




